O |IN|Zo| 0|8
O | 0| O] > || N 2 1100
— M| > O I - :
M o O\ | OO %
,_Q = | 2N Jw — | = || = _
O " e gl % >
U< O|l=|1O|
D) ~N|l=|=|"]
—|l=z|C | =21
I | G rri
—H o |Y|Ix|Z
Mo < | = |
DI o|F =
| T I
—~ N
> |
-
I
,_T
-
3
P
3
>
o
3
o & 0.00 183.20|Istn. kan. $200, Rz.d.=179.87 =
‘—"O" _.| 3.33[179.87 Studnia Typowa BI 1.2m, Rz.d.=179.87
e I
©
n
o =
=]
o | 36.00 2.85 180.05| 182.90| Studnia Typowa B1 0.4m =
&
=]
] 72.00 2.271 180.23| 182.50[Studnia Typowa B2 0.4m
S
o
= “82.00 2.221 180.28] 182.50[Studnia Typowa B3 0.4m
&
43
=)
w | 114.00 1.96| 180.44| 182.40|Studnia_Typowa B4 0.4m
8
S
& | 146.00 1.80| 180.60| 182.40|Studnia Typowa B5 0.4m
P
8
= 175.00 1.65[ 180.75| 182.40[Studnia Typowa B6 0.4m
3
S
El.éff;ioa.oo 1.41] 180.89| 182.30| Studnia Typowa B7 0.4m
N
% >
g N
O
O
e | 239.00 1.63| 181.07| 182.70|Studnia Typowa B8 0.4m =
.
2 |
S _h
@)
% 268.00 \, 1.79| 181.21] 183.00| Studnia Typowa B9 0.4m =
O
¢ |3
o _|299.00 1.73[ 181.37| 183.10[Studnia Typowa B10 0.4m =]
o (=3
(@]
-
1N
8
= 330.00 1.88[ 181.52| 183.40|Studnia Typowa B11 0.4m E
&
S
= _| 366.00 2.20] 181.70] 183.90[Studnia Typowa B12 0.4m %
[V
g
8
& _4400.00 2.13| 181.87| 184.00|Studnia Typowa B13 0.4m &
ono" [
~
2
8
= _[439.00 2.03] 182.07] 184.10[Studnia Typowa B14 0.4m =]
> >
8
S
w _[467.00 1.79| 182.21 184.00| Studnia Typowa B15 0.4m =]
(3] [4,]
IS —
= "
)
~
(e}
w _|497.00 3 1.64 | 182.36| 184.00|Studnia Typowa B16 0.4m =]
» D
) 3 W 3 T o | —
52223 |3 £
c| S = T na ;O =
= N g N 5‘ 2 "I
D5 = =z3 =
T | & S % Q
— 3 =~ gﬂ.
s 2 32 5
ol S < = =
e g o
b o _U %. :
N - o 'ﬁ
o » » o 2. b
N = =] o =2 = 2
N =1 = 3| & Io) :
| =) 2 2| @ o 3
< 2 2 - 3 &g
o |3 & g <
w § == U)% n 3
2 S = 2 58|83/x%
NG = c| 2 | 2 E'
w > = o T| D |0 TING
o } - S| N
3, = = S¥
= oS (@) 2l ¥
2 Q 9 = = N QI
= =) o QO N [
o = 5 = 5 =
% 18] & §
=t z|=| 2 ¢
S 5| &
™~ (@N = 2.
= 2
8 =
<




